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Note : This paper has two sections, Section-A and Section-B.

Both the sections are compulsory. Remarks have been
mentioned in the section along with marks.

SECTION - A
1.  Fill in the blanks. Choose correct answer from the
choices given below : ‘ 15x1=15

(CT, Transformer, Risers, accuracy, amplitude,
plinth, conductor, isolator, control, steel, humidity,
shutdown, delta, optical, reactive) .

(a)  Dog is trade name of

() In ACSR conductor, central core is of

(c) No earthing switch can be closed unless the
corresponding __________ is in open
position.

(d) The basic grounding system in a substation
is in the form of an earthmat with

(e) As a quality check of SF6 gas
content is to be measured.
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(f) Transformer merely changes the
of voltage from one electric circuit to another.

(g) Shunt capacitor is used for
compensation.

(h) Secondary output current of is
5 A.

@) Ratio test of transformer can be done in
condition.

() Surge arrester is used for protection of

(k) Transformer can be mounted outdoors on
mounting.

@ cable is used for connection of
protection systems.

(m) primary winding of distribution transformer
is normally connected.

(n) A Meter Reading Instrument has
sensor.

(0) Loss at consumer end meters may be due to
poor of meters.

2.  Write True (v) or False ( X ) for the statement given
below : : 10x1=10

(a) Lossesin EHV network is of the order of4%.
(b)  Accuracy class of static meters is mostly 0.1.
(c) 11KV is standard generation voltage.

(d) Normally in 33 KV sub-station, storage
battery is of lead acid cells. ‘
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(e) The rated voltage of 33 KV circuit breaker is
36 KV.

(f) Tong tester is used for measuring voltage.

(g) Buchholz relay of a transformer contains
silica gel.

(h) Energy is measured in KWL at customer’s
~ facility.
(i)  Full form of LED is light emitting display.

()  Trivector meter is used for HT consumers.

3.  Match the following given in coloumn ‘A’ with

coloumn ‘B : 5x1=5
Coloumn A | Coloumn B

(@) MRI (i) Conductor

(b) Winding resistance  (ii) Lead current

() AAAC (iii) Data collection

(d) Isolator (iv) Load

(¢)  Circuit Breaker (v} Charging current
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SECTION - B
Answer any eight (8) questions : 8x5=40
4. Differentiate between power cable and control

cable.
5.  What are the advantages of XLPE cable ?
6.  Mention some advantages of ring main system.

7.  What are the factors contributing to high technical
losses in distribution network ?

8.  What is the objective of energy accounting and
auditing ?

9.  Explain the procedures for permit to work.

10. What are instrument transformers and why are
these required ?

11. Why single/two phasing in rural areas is
dangerous ?

12. . Classify the reasons for transformer failure.

13. How billing and collection in an utility can be
improved ?

14. How does usage of higher voltage reduce electric
power losses ?

15. Why drying out of transformer is required ?
16. What are the tests carried out in transformer oil ?

17. What are the possible varieties of cash laying and
on what factors does the choice of system depend ?

18. What are the different supports for overhead lines ?
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